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(C) Cz+y+4) (z+y—5) (D) (z+y+10) (z+y—2)

(9) 8 2*—3z*+2 AKX, B ( )
(A) (£'—2) (-1 (B) (*—2) (x+1) (=—1)
(C) *+2) («*+1) (D) (£*+2) (z+1) (z—1)

(10) M TFHEXFMEX, #HiRAR2 «

(A) 2*—142°y+ 49y =z (z—Ty)?

(B) —p°¢*+6p9° —9¢'=—¢" (p’¢*—6pg+9) =—q* (pg—3)*

(C) (2*—4x)*—8 (4z—z') +16= (2*—4x+4)'= (x—2)*

D) ta'—2= (—a'= (+a) (=—a) |
(11) ¥ 2*+z—20 HMEARE «

(A) (z+4) (z—5) (B) (z—4) (=z+5)
(C) (z+4) (=z+5) (D) (z—4) (z—5)

(12) AASHE (z—3) (=+5) HEHALE ¢ )
(A) 2*4+2z+15 (B) z*—2z+15
C) —2*—22—15 . (D) z*42x—15

(13) BWHR, 2*—ax—bx+ab 43R AR N ( )
(A) — (z+a) (z+H) (B) (x—a) (z+b)
(C) (x=a) (x—b) (D) (zx+4a) (z+b)

(14) —=PMEF 2 HZR=E0K, H2' HHAKE 1, ¥R —12, HESBRER,
XEER IR =m A 2 ( )

(A) 22—11zx—12 8 27+ 112—12 (B) 2'—2—12 K 2*+=x—12
(C) 2'—4zx—12 8 2’ +42—12 (D) L E#ATLL

4. HBERX.
(1) 2*y*+3zy+2 (2) z*—11x+24
(3) a*+a*—20 (4) 2°+6xy—91y*
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